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@®Scenario%z
VERK @Given('syslog¢trap®4)7 {DUT}")

def step_impl(context, DUT):
addr = context.cmd[DUT].host
context.syslog.clear(addr)
context.trap.clear(addr)
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@Initial
Scenario Outline: BIFEZFMDsetUp \\\\///
Given 7 L—LZ&E%k <Port> "<DA>” “<SA>” <PID> <VLAN>
Examples:
|Port |DA | SA |[PID |VLAN|
|PortA |00 10 01 02 00 00|00 10 01 01 00 00]1 | 1001 |
|PortA |01 00 5E 00 00 00|00 10 01 01 00 00]2 | 1001 |
|PortA |00 10 02 02 00 00|00 10 02 01 00 00]3 1002 |
|PortA |01 00 5E 00 00 00|00 10 02 01 00 00|4 1002 |
‘ |PortB |00 10 01 01 00 00|00 10 01 02 00 005 | 1001 |
|PortB |01 00 5E 00 00 00|00 10 01 02 00 00|6 | 1001 |
|PortB |00 10 02 01 00 00|00 10 02 02 00 00]|7 |1002|
|PortB |01 00 5E 00 00 00|00 10 02 02 00 00]8 |1002|
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10.249.26.42: <131>Jan 9 08:53:39 (1)
<mmrp:err> Ring 1 ARENA1: Master LAG 1 goes failure.
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@01
Scenario Qutline: TEST 01 (loss time check)
Then 7 L—L A XEHEIESE <IxPort> <MinStrmID> <MaxStrmID> <RxPort> <MinPGID> <MaxPGID>
<ExpectLossTime>

Examples:
| TxPort [MinStrmID|MaxStrmID|RxPort|MinPGID|MaxPGID|ExpectLossTime|
|PortA |1 |2 |PortB |1 |2 |1.0 |
|PortA |3 |4 |PortB |3 |4 |0.0 |
|PortB |1 |2 |PortA |5 |6 |1.0 |
|PortB |3 |4 |PortA |7 |8 |0.0 |
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@01
Scenario Qutline: TEST 01 (l)_/ffOD{kﬁbl_iiﬁﬁéﬁ)

“<{Status1>”

Then MMRPOD{k EFEER <DUT> “Kring_ID>” “"<Name>” “<Port1>” “<Model1>”
“{Mode2>” "<Status2>”
Examples:
|DUT|ring_ID|Name |Port1|Model |Statust |Port2|Mode2|Status2
|Ap1 |1 | ARENAT |[LAG1 |Master|failure(d) [U]]- |- |-
| Ap2 |1 | ARENAT |- |- |- |LAG1 |Slave|Forwarding
| Ap3 |1 | ARENAT |LAG1 |Aware |failure(d) [U]|LAG3 |Aware|Forwarding

“<Port2>”

|

|
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